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LAW
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

“The new Constitution establishes, 5.  Assertion (A): Directive  Principles
indeed a system of Government which are not enforceable by any
is at the most quasi-federal, almost Court.
devolutionary in character, a unitary Reason (R) : Directive Principles
state with subsidiary federal features are more or less fundamental in
rather than the federal state with the governance of the country.
unitary features” said by Codes :
(A)  Dr.K.C. Wheare (A) Both (A) and (R) are true but
(B) Dr. Rajendra Prasad R) i h lanati
(C) Dr. B.R. Ambedkar (R) is not the correct explanation
(D) Pandit Jawaharlal Nehru of (A).
(B) Both (A) and (R) are true and
In which of the following case it was (R) is the correct explanation of
held that. ‘Right to Life does not (A).
EIX)IUdCe}Z;gI}?at;r%: ’S?tate of Punjab (©) (A)is false but (R) is true.
(B) Chenna Jagdeshwar Vs. State of (D) (A)s true but (R) is false.
A.P. 6. The Supreme Court does not have
(C) State of U.P. Vs. Sanjay Kumar original jurisdiction regarding a
Bhatia dispute between
(D) Deena Vs. Union Bank of India (A) acitizen and a State
Assertion (A): An accused person (B) the Government of India and
cannot be compelled to give his one State
signature or thumb impression. (C) two States
Reason (R) : An accused person (D) the Government of India and
cannot be compelled to be a one State on one side and one
witness against himself. State on the other side
Codes :
(A) (A)is true but (R) is false. 7.  In the Constitution of India, provision
(B) (A) is false but (R) is true. relating to the formation of new States
(C) Both (A) and (R) are true. can be amended by
(D) Both (A) and (R) are false. (A) A Parliamentary resolution
After a Money Bill has been passed by which should be ratified by
the House of the People, within how majority of State Legislatures.
many days it is transmitted to the (B) A simple majority in each House
Council  of  States for its of Parliament.
recommendations ? (C) 3/4™ majority in the Parliament
(A) Thirty days (D) 2/3" majority in the each House
(B) Twenty four days of Parliament provided they also
(C) Sixty days constitute the majority of total
(D) Fourteen days members of each House.
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10.

Holding of periodic, free and fair
elections by the Election Commission
is part of the basic structure of the
Constitution as per the following :

(A) Election Commission of India
Vs. AIADMK

(B) S.S. Dhanoa Vs. Union of India

(C) In Gujarat Assembly Election
matter

(D) Sadig  Ali Vs.
Commission of India

Election

Writ of Mandamus cannot be issued,
where a fundamental right is infringed
by

(A) A Statute

(B) A Statutory Order
(C) An Executive Order
(D) Private Body

Assertion (A) : The principles of
natural justice ensures fair hearing.

Reason (R) : It requires unbiased
judge to decide after hearing all
parties.

Codes :

(A) Both (A) and (R) are true and
(R) is good explanation of (A).

(B) Both (A) and (R) are true and
(R) is not a good explanation of
(A).

(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

Paper-I11

11.

12.

13.

Prerogative writs to review an
administrative action are :
(A) Two : Writ of Habeas Corpus

and Writ of Mandamus.

(B) Three : Writ of Habeas Corpus
and Writ of Mandamus
and Writ of Prohibition.

(C) Four : Writ of Habeas Corpus
and Writ of Mandamus
and Writ of Prohibition
and Writ of Certiorari
and Writ of Quo

Warranto.

(D) Five : Writ of Habeas Corpus,

Writ of Mandamus,
Writ of Quo warranto,
Writ of Certiorari and
Writ of Prohibition.

A mandatory procedural requirement
for an administrative tribunal must be

(A) Legal representation
(B) Cross examination
(C) Reasoned decision

(D) All of the above

Judicial review of an administrative

action means
(A) Review by the Parliament
(B) Review by the Government

(C) Review by the
Assembly

Legislative

(D) Review by the Judiciary

J-58-12
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14. Match an item in List — I with correct
answer in List — II.

List -1 List - II
Institution of (A) Law should be able
Lokpal and to  control the
Lokayukta numerous wide

discretionary
powers

(B) Ensure fair hearing

(C) Evaporate
maladministration
and corruption to
bring good
governance

(D) Check and control
abuse of power and
executive excesses

15. Find correct answer :

(A) Administrative law is a branch
of public law and is only a part
of Constitutional law. It cannot
control the Constitutional law.

(B) Administrative law is a branch
of private law.

(C) Administrative law is
independent to Constitutional
law.

(D) Administrative law is neither the
branch of public law nor of
private law, but a part of
Constitutional law.

16. Bentham’s definition of law is
imperative in nature because

(A) law is an assembling of signs.

(B) law is declaration of volition
conceived or adopted by
sovereign in a State.

(C) because it is adopted by non-
sovereign State.

(D) (A) & (B) both
Paper-I11

17.

18.

19.

20.

21.

The term ‘Legal theory’ has been first
time used by

(A) Llewlyne

(B) Thring

(C) Salmond

(D) W. Friedman

Bracket  theory  of
personality is also known as

corporate

(A) Concession theory
(B) Symbolist theory
(C) Fiction theory

(D) Will theory

‘A’ says to ‘B’ that he will give a sum
of rupees five thousand if ‘B’ marries
his daughter, this is

(A) Vested Right

(B) Contingent Right
(C) Primary Right
(D) Secondary Right

Assertion (A): Kelsen follows Kant

[

in distinguishing between ‘is
and ‘ought’.

Reason (R) : Kelsen is a forerunner
of philosophical school.

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not a correct explanation
of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

The possession is the

(A) five point in ownership
(B) seven point in ownership
(C) nine point in ownership
(D) ten point in ownership

J-58-12
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17.

18.

19.

20.

21.
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22,

23.

24.

25.

26.

Which of the following duties have
been included by Austin in the
category of ‘absolute duties’ ?
L Duties owed to
indefinitely

II.  Self regarding duties
III. Duties owed to the sovereign
IV. Duties owed to the parents

Select the correct answer using the
codes

Codes :
(A) LLIOIandIV (B) I IIandIV
(C) LIandIV (D) I, IIand III

persons

Which one of the following get along
correctly ?

(A) Trust and co-ownership

(B) Legal and contingent ownership
(C) Sole and limited ownership

(D) Legal and equitable ownership

A person who causes bodily injury to
another who is labouring under a
disorder, disease or bodily infirmity
and thereby accelerates the death of
the person. Under which it shall be
deemed to have caused his death ?
(A) Explanation I to Section 299
(B) Explanation I to Section 300
(C) Explanation II to Section 299
(D) Explanation II to Section 300

In which provision of Indian Penal
Code the definition of ‘valuable
security’ is explained ?

(A) Section29 (B) Section 30
(C) Section31 (D) Section 13

State the age limit prescribed under
Section 82 of Indian Penal Code in
which if a child commits an overt act
is not considered as an offence ?

(A) Under the age of 12 years.

(B) Under the age of 7 years.

(C) Under the age of 16 years.

(D) Under the age of 18 years.

Paper-I11

27.

28.

29.

30.

When the injury is intentional and
sufficient to cause death in the
ordinary course of nature and death

follows. The offence is of the
category :

(A) Attempt to murder

(B) Culpable homicide not

amounting to murder
(C) Murder
(D) Attempt to suicide

Principle : Theft + Violence or Threat
to violence = Robbery.

: M meets B and her child
on a river bridge. M takes
the child and threatens to
fling it down to the river
unless B delivers her
purse. B in consequence
delivers her purse.

What offence ‘M’ has committed ?

(A) M is liable for theft.

(B) M is liable for coercion.

(C) Miis liable for robbery.

(D) M is liable for extortion.

Facts

Fill in the gap :

A disability for days
constitutes grievous hurt.

(A) A week

(B) A fortnight

(C) A month

(D) A minimum of twenty days

Fill in the gap with appropriate word :

Wrongful restraint means keeping a
person from out of his of
his residence.

(A) House

(B) Place

(C) Hotel

(D) Guest House

J-58-12



22.

23.

24.

25.

26.

9 4 @ o9 ¥ Fae & AT 3

fder e o |imted fFar e

[ SAFREdse 99T & o SAfeaar
F TWE FHa

II. 4% Uld ®ded

. F9] % Ufd &

IV. 3ITaesl & Ui s

el N TEHTA X §U 3fad I 1

E

(A)  LIIARIV

(B) IL IIARIV

(C) LIARIV

(D) L ISR

= 4 9 B9 W w9 -y g

£

(A) =T 3R FE-he

(B) fafuss 31 Tt Tentie

(C) UHAN 3R URHHT Tt

(D) fafees 3R gr=mgul @i

UH Al S gE AR Bl T,

Tt a1 IR geerar & feafd & 9w

HIAT &, Bl &I Tgaar & X T WE °

ST G T B IAE |

Ig 3TH Hah fdTd g HING HH

STEAT T STET 2

(A) ©RT 299 T T |

(B) ©RT 300 T TR |

(C) 9RT 299 T TALHIIT 2

(D) ©RT 300 T TLHIIT 2

TRAE 3T Gl & f6g e & 3fava

“HoFaT Uffa’ o SaReT H TE § 2

(A) ©RT29 (B) R 30

(C) 4RI 31 (D) R 13

TRAT 5 Gl Sl &RT 82 & 37 T

g | freiia & e & e s A

Good Tooll $ed Kl & df 3§ 8

STTY &Y FHE ST € 2

(A) 1299 ¥ FH H 3G

(B) 799 W HH & 3G

(C) 1699 ¥ HH H 3

(D) 18 39 ¥ A I 3Mg

J-58-12

27.

28.

29.

30.

S eifd/ae WSevd Bl § T |HRT
ferfqal & gog wia & & o Hm
i & 3R gog & St € | o TR R
TR 2

(A) & H T

(B) 3MUXITush HFaey TR gel =Tl
(C) ==

(D) e 1 TAT

g = + & o & @ gmet =
v

A M, B X 3GF 9<=I & & &
T W AT & | M 5= i 32T
T & 3T W A A6 9 s
T D gD AT € ST qH 6 e
38 U 9§ Wl T <l |
HoTE® T B U0 3T 9T Al € |

M = =T TR R 2

(A) M IR % o ER e |

(B) M WUE" & ford fmier € |

(C) MTE® o SRR |

(D) M ST & ford SRR ¥ |

o @ 9

fet & fo1d averer = SwRfd &idl &
(A) T

(B) USE feA/amters

(C) THHE

(D) F9 9 FHA 99 5T

3t v 9 R w=e o

TR MeRgF H 3 Al A
NEAE®EEH  H RGN E |
(A) =

(B) =

(C) @A

(D) T ESH

Paper-I11



31.

32.

33.

34.

Fill in the gap which is more
appropriate.

Inducing a girl under 18 years of age to
go away with him from is
an offence of

(A) Normal home

(B) Place of work

(C) Domestic area

(D) Any place

Find the correct answer :
The principle of
equity envisages :

(A) Conservation of options

intergenerational

(B) Conservation of quality
(C) Conservation of access
(D) All the above

Find the correct answer :

The  Supreme  Court  allowed
compensation of I 23.84 lakhs and
later allowed additional compensation
of ¥ 47 lakhs to the farmers whose
crops got damaged, being irrigated by
subsoil water drawn from a stream
which was polluted from untreated
effluents of 22 industries. It was
decided in the case of

(A) Vellore Citizens Welfare Forum
vs. Union of India

(B) Indian Council For
Environment Action vs. Union of
India

(C) 8. Jagannath vs. Union of India

(D) Narmada Bachao Andolan vs.
Union of India

The concept of sustainable

development contains which of the
following essentials ?

(A)
(B)
©)
(D)

The precautionary principle
The polluter pays principle

The doctrine of public trust
All above

Paper-I11
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35.

36.

Assertion (A) : The Supreme Court
in Banwasi Seva Ashram vs.
State  of  Uttar  Pradesh,
permitted  the  government
agency to acquire the forest
land, ousting certain tribal
dwellers to implement a power
project only after they agreed to

provide certain facilities
approved by the Court.

Reason (R) : Because the
governmental action had an
environmental  impact  that
threatened to dislocate poor

forest dwellers and disrupt their
life-style infringing their
fundamental right to life, which
include the right to livelihood.

Codes :

(A) (A)istrue and (R) is false.

(B) (A) and (R) both are true, but
(R) is not a correct explanation
of (A).

(C) (A)is false and (R) is true.

(D) Both (A) and (R) are true and
(R) 1s good explanation of (A).

The Supreme Court observed that

noise pollution cannot be tolerated,
even if such noise was a direct result
of and was connected with religious
activities in the case of

(A) A.P. Pollution Control Board vs.
Prof M.V. Naidu

Church of God (Full Gospel) in
India vs. KKR Majestic Colony
Welfare Association.

(B)

(C) KM. Chinappa vs. Union of
India
(D) Narmada Bachao Andolan vs.
Union of India
J-58-12



31.

32.

33.

34.

frer T & W

8T AFT AT H oASH &l F
3T WY T % 72 T T TR
g

(A) TR T

(B) A

(C) *Re] &=

(D) =T+ ==

TE ST 1T Y |

Ja; dier grEar & fagra e
W TR g

(A) Toeredr o1 TeeTor

(B) T[UTERT T WXRI0T

(C)  3INT=IAT T G&AT

(D) ST et

ﬂﬁﬁ?ﬂﬁﬁ:
Fared =T 7 23.84 @ % o 3TEs
w SFEfd I SR AT ¥ fHAEr w47
AT T & SRS TS 3 i 3FA
I H(h STDH FOA, Tal b FAYT 5o
ST 22 S o eritae feiEr 9 g
g T & § TafEa 8 % SR A 8@ e
£ | 7 5 qret § fotg femar mmam o 2
(A) oIk TFIRE HoAT GRA TFH
g 37T glear
feTT FEMAT BR GHARRTHES
USRI 17 T 3% grsar
(C) T T T JHATT 377% gsar
(D) THsT FAIS =TT FAH JATT
3 glear

(B)

YRONT Toehr 1 ATERT § F=tergd
H 9 B g e ol GHIe € 2
(A) Uelqard fagra

(B) diegex ug firdiuer

(C) e Tovama =1 fagr=

(D) ST Tt
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35.

36.

AT (A) : THATE WA IHT T
SR USY T | Faied <o =
TR TSIl i a3ttt
® A ¥ &I, d@l WA Al
S faTaal g w3
T TA & | W FE el 5 R
AT FRT TR F glorenet &l
YT AT SR &l |

FHRUT (R) : Hih TWHR HRATE Hl
e wE g § S TRE
FATGET T SETS Y TR Il &
R 3k SIH & IMUSHR q«r
ST MR T Seera
g 3T M Sad el w
AT FL AT E |

(A) T & 3T (R) 3T |

(A) & (R) Ml T & T (R),
(A) F TE AT TR € |

(A) I & AT (R) T E |

(A) 3T (R) I T ¢ 3T (R),
(A) i b AT E |

(A)
(B)

©)
(D)

g Amel ¥ gared =@ | U &

A TGHOT TR el TR ST Fehell & =18

T @Ear (IR) e fatateE & 9

Traf=e & AT 3T Weiel arony

(A) T T 5590 = &g FHT A

g3 AIg

YRT I T 3% TS (BT TR

HATT G

(C) & UF, [a7o7 79 9Re §

(D) THT FET37 SRIAT T IRT G
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37.

38.

39.

Assertion (A) : Nobody can claim a
fundamental right to create noise
pollution by amplifying the
sound of his speech with the
help of loudspeaker.

Reason (R) : While one has a right
to speech, others have a right to
listen or decline to listen.
Anyone who wishes to live in
peace, comfort and quiet within
his house has a fundamental
right to prevent the noise as
pollutantion reaching him.

Codes :

(A) (A)is true, but (R) is false.
(B) (A) is false, but (R) is true.
(C) Both (A) and (R) are true, but

(R) is not a correct explanation.

Both (A) and (R) are true and
(R) is good explanation of (A)

(D)

In which of the following cases it was
held that there is no reason to compel
non-smokers to be helpless victims of
air pollution ?

(A) Samantha vs. State of A.P.

(B) M.C. Mehta vs. Union of India
(C) Murli Deora vs. Union of India
(D) Sheela Barse vs. Union of India

Protection and improvement of
environment and safeguarding forests
and wildlife is

(A)
(B)

A fundamental right

One of the Directive Principles
of State Policy.

One of the Fundamental Duties

Both one of the Directive
Principles of State Policy and
one of the Fundamental Duties

©)
(D)

Paper-I11
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40.

41.

42,

Who stated that international law is
not true law but ‘positive international
morality’ only, analogous to the rules
binding a club or society ?

(A) Oscar Schachter
(B) John Austin

(C) Louis Flenkin
(D) Hans Kelson

Opino juris sive necessitatis means

(A) Opinions of jurists is necessary
evidence for determining rules
of international custom

(B) Opinions of jurists is not
necessary for ascertaining the
rules of international law

(C) The feeling on the part of States

that in acting as they do they are

fulfilling a legal obligation
(D) None of the above

Which of the following cases supports
constitutive theory of recognition,
namely, the act of recognition alone
confers international personality on an
entity purporting to be a state or
clothes new government with an
authority to enter into international

relations ?

(A) The Arantzazu Mendi, (1939)
A.C.P 256

(B) A.M. Luther Vs. James Sagor &
Co, (1921) 3 K.B. P.532
(C) Tinoco Concessions, (1923) 1

United Nations

International Arbitral Awards P
369

(D) None of the above

Reports  of

J-58-12



37.

38.

39.

AWHUT (A) : FT ol A, ATSHSTR
H TEEAT 9 3 9T T &
TETHR A UGUUT IO HH P
Hifeter  MUHR T @1 Tl B
HHATE |

HRUT (R) : STaTh TH S e HI DR
T o g W g W g A
TN B B AHR & | S BT
f e W T i, SR @R
THT | @A TRl & 39 UgHT
T H IR G S= B HifeTeh MR
T

(A)
(B)
©)

(A) ¥ €, W (R) A |
(A) I E, W] (R) TAE |
(A) 3R (R) FFI & & W (R),
(A) I T AT T T |

(A) 3T (R) THl ¥ & 3 (R),
(A) 1 b AT E |

(D)

g amet 9 g8 fuia e mn &

YOI F FH a6l Sl A UG
IR Uited 8 & fo1d s & ol Hi
FHROT TEl € 2

(A)  TTHAT FATH 3 F59T T
(B) TH G H@gar F9H YR G
(C) TXeTl 39T &7 YRT G5
(D)  eTr 9 &9 YR T

THEXOT T HIEOT AT GUR HT o
T SAIa Y G

(A) Hiferss AR e |

(B) ¥~ siifaer fdere fagr=ii § @t
T

HifeTsh el H G TH & |
g e v Mg 4 9 U
3R HifeTs Haedi § § TH AT € |

©
(D)
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40.

41.

42,

“IRTZT BT FT BET el & e
ha “HPHRIHS L ATqhdl & S
T Fotar a1 Wiameer S areE At HEE %
TG E 1”7 T T FRT T 9

(A) IR T

(B) S 3

(C) T%d Fifeh

(D) & S

anfo T"f{ﬁ'\q qrgg Afatgefea (Opino
juris sive necessitatis) bl AT T

(A) IR wel & Fom e &=
% ford fafenfert & geat =
3TMEYTEH YHIT & |

ST A o 1 Fvad &
% ford fafenfert & geat =
3TMAYIH el ¢ |

T 1 UG HieT & 6 ST A
® & 3 Aot ot e @ &&=
wWE |

(D) ST H W HIE Tl |

(B)

©)

frfefad & ¥ & 9@ AW qd &

TeoTeTs fagT, 37, Sherel JrIan &

F € Ted ST AT B HT ST HATl €

H AL AT TS AT & AT 7S

WHR & LT Tl I T

AT TS T &, BT qHAT AT &

(A) 3RS BT, (1939) T . 9. 256

(B) U TH TR AW S QU W0
%, (1921)3 &, &1, 7. 532

(C) feaem REmd, (1923)1 THvHA
MG TaTeq Hf FAREES 9FH
RUeH, 7. 369

(D) ST | W IE Tl
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43.

44.

45.

Which of the following statements is
true ?

(A) Nationality is the evidence of

the link or relations of an
with  the  State
whereas domicile denotes de

individual

facto residence of an individual
in a State with an intention to
permanently settle there.

(B) Nationality is an evidence of
residence of an individual with
an intention to permanently
settle there.

(C) Domicile denotes the link or

relations of an individual with
the State.

(D) None of the above

The Charter of the Untied Nations
came into force on

(A) 26 June 1945

(B) 10 December 1945
(C) 24 October 1945
(D) 1 November 1945

A member of the United Nations
which has persistently violated the
principles contained in the Charter
may be expelled from the United
Nations by the

(A) Security Council
(B) General Assembly
(C) General Assembly upon the

recommendation of the Security
Council
(D) Security Council upon the
recommendation of the General

Assembly

Paper-I11
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46.

47.

48.

49.

50.

The Judges of the International Court
of Justice are elected by the

(A) General Assembly

(B) Security Council

(C) General Assembly upon
recommendation of the Security
Council

(D) General Assembly and the
Security Council independently
of one another

Under Section 6 of the Hindu

Minority and Guardianship Act, 1956
the natural guardian of a minor child is
(A) Mother

(B) Father

(C) Both Mother and Father

(D) Either Mother or Father

A Muslim wife can relinquish her
Mahr

(A) When she is minor

(B) When she has attained the age of
puberty

(C) When she is not less than 18
years of age

(D) When she is not less than 21

years of age.

In Islamic Law “Faskh” means

(A) Restitution of conjugal rights

(B) Judicial separation

(C) Dissolution or rescission of the
contract of marriage by judicial
decree at the instance of the
husband.

Dissolution on rescission of the
contract of marriage by judicial
decree at the instance of the
wife.

(D)

Muta marriage is recognised by

(A) Hanafi School

(B) Maliki School

(C) Ithna Ashari School
(D) Hanbali School
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43.

44.

45.

ffafEd § F &9 |1 %9 T € 2
(A) TS =& & T & qY
Tl A7 HEN BT THOT & 5
e o9 | o w1 R @
w0 F FE R & uESE & 9
AR AT T AT FXAT ¢ |
T el TR ' ¥ e e
% ITIT & Y, AT & ST H
T E |

NTETT T % T AT & Ty
T FHAT € |

(D) STIF H H HE T |

(B)

©)

TIHRT T T AT el Hord g2 2
(A)
(B)
©)
(D)

26 ST 1945
10 fg@w=T 1945
24 FTFE 1945

1 A=Y 1945

g W A W™, e 9w o
g Tag= ®1 AR Seoetad fhar
g, 9gad T ¥ Fretated & R e
GTEEB'(”IT%:

& UREg

TETET

(A)
(B)
(C) TN IR i R W e
% T
TR SR TG Ry
% T

(D)
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46.

47.

48.

49.

50.

L AT & AT 1 AT
T 5T e & 2

(A) T

(B) &M UREg

(C) T UREg i SR T HETas

(D) e ¥ G uRug, Uh g §
A= w9 H

1956 ! URT 6 & ST Al seef &l
TETHTTerh A &

(A) @I

(B) fuar

(C) 9t X fuan =T

(D) W &7 foar

e et 319 WX el T Tehell & 2
(A) I TE T T |

(B) 3 3T AEUF i g W T oAl
T

g 9E 18 a9 ¥ HY T B T
T

Ifg a7 21 99 ¥ FF 3G A TE
T

©)

(D)

T ST B HEG S

(A) IO SHRRT FH TR

(B) =Nfaeh SrerTE

(C) ufd & T W =k feml 10
Toreme & HfesT 1 forereT ar e
9T & hed W Mgk [Sshl g
Toame & dfaer = fage a1 e

(D)

gar faare =i fhgest AT ure & 2
(A) TIH TR

(B) Tifetent TwEE

(C) TUT 3WIN TUR™

(D) & GUEE
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S1.

52.

53.

The term ‘Hindu’ denotes the person
(1)  Professing Hindu Religion

(i) Professing Buddh, Jain or Sikh
Religion
(ii1)) Who are not professing Muslim,

Christian, Parsi or Jew Religion.

In respect of the aforesaid propositions
which is correct ?

(A) (i) and (i1) are correct but (iii) is
incorrect.

(B) (i) and (ii1) are correct and (i) is
incorrect.

(C) (1) and (ii1) are correct and (ii) is
incorrect.

(D) (), (i1) and (ii1) are all correct.

Match the List — I with List — II using
the codes given below :

List-I List-I1
(a) Void (1) Section 9
Marriages
(b) Voidable (i1) Section 11
marriages

(ii1) Section 13
of (iv) Section 12

(c) Divorce
(d) Restitution

Conjugal Rights
Codes :
@ ® (© (@@

(A) @) (@v) @) @)

B) @Gv) @) @) @)

© @@y @ @G av)

D) ® Gy (> av)

In which of the following case the
Court held that Section 9 of the Hindu
Marriage Act was Constitutionally
violative of right to Human dignity
and privacy ?

(A) Bipin Chandra vs. Prabhavati
(B) T. Sareetha vs. T. Venkatasubah
(C) Lachman vs. Meena

(D) None of the above
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54.

5S.

56.

Match the List — I with List — II and
indicate the correct answer using the
codes given below :

List-I List-1II
(a) Pre-Marriage (i) Divorce
Pregnancy

(b) Marriage within (ii)) Voidable

Prohibited Marriage
Degree
Relationship
(c) Cruelty (iii) Void
Marriage
(d) When any (iv) Restitution
spouse without of
reasonable Conjugal
excuse Rights
withdraws from
the society of
the other
Codes :
@ () © (@
(A) () @Gv) (@) (i)
B) Gy @) @ 3>Gv)

©) Gv) @) @Gi) @
O ® @ @) @Gv)

International  Women’s
celebrated every year on

(A) 2“March (B) 4™ March
(C) 6"March (D) 8" March

Day is

Which one of the following is correct
according to Art I of the Universal
Declaration of Human Rights, 1948 ?

(A) All human beings are born free
and equal in rights.

(B) All human beings are born free,
equal and dignity

(C) All human beings are equal in
dignity and rights.

(D) All human beings are born free

and equal in rights and dignity.
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52,

53.

% “Teg” S el & o =teRT

(i) Tegad=wamare |

(i) g, S a1 FooRg a9 B AT |

(iii) ST R, S, IR A1 AgEr 95
! TEl T € |

UG WquTEHTST o T § i T Fel

T2

(A)

(B)

©)

(D)

(i) 31T (ii) eI €, (iii) TOA T |
(i) 3 (i) TET &, () AL |
(i) 31T (iii) T &, (ii) TOA T |
(), (i) 3 (iii) T T & |

gL S FA-IL & Ty g A SR
e o2 el W Tl I A qIA

i | = - 11
(a) 7 foeme (i) =m1-9
(b) IO foae (i) gI-11
(c) qETH (iii) &TT-13
(d) I ATUHRT BT (iv) TIRT-12
AT

C YA

(=N

(@ (b (© (@
(1) (@v) (@) @)
B) @Gv) @G G) @
©) i) (@) @) (Gv)
D) @O ) (@) (@v)

(A)

frfafed o | 69 e 9§ = J
freia T T feg T stufmm =t
YRT 9, AT UfaeSar Ua UTgedr 3TfHeR
T HAYTH T ¥ Ioeie Ll € ?
(A) T3 775 5319 Foraar

(B) 2t @ilar &g 21 derge

(C) o5 F1H AT

(D) SUgF 9 HIE Tl
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54.

5S.

56.

GeEt-1 S gl & 9T AT B 3T
e 52 el T HET I A T X —
i | = - 11
(a) foeme oaf (i) ToTH
T

(b) ufaufed fett (i) IR0
Y & foare
3T Toame
(c) e (iii) 97 forme
(d) 19 HIE TST (iv) T TR
(4t a1 ufeT) T IO
forr femedt
WL &
T & TS
¥ fqer 3t
T

A

(=N

(@ (b (© (@
@) @v) (1) (i)
B) @G @) @ (Gv)
©) Gv) () @) (1)
O @ @ > Gv)

L AfgeT fgog ucdss ay g fdfa
T HATAT ST & 2

(A) 2T

(B) 41

(C) 6u

(D) 8 U

(A)

TFEYhR  GEtes SO0, 1948 %

T | & ER FfrEd § @ B

T TE E 2

(A) THE AFT AHHR] H AR =

qAT T USTETE |

I A W, TAE 3 yidqer

FAT UL |

AT YT UawQl U A o

A= T8 AT |

T AFE fUhR] 3R fqwr &

T | = Ud GHF YT gU & |
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57.

58.

59.

60.

Regional Human Rights Court does
not exist in

(A) Africa
(C) America

(B) Europe
(D) Asia

Which protocol to the European
Convention on Human Rights has
abolished European Commission of
Human Rights ?
(A) Protocol 1
(C) Protocol 3

(B) Protocol 2
(D) Protocol 11

Which one of the following
convention has neither interstate
communication procedure nor

individual communication procedure ?
(A) International Convention on
Civil and Political Rights

(B) International Convention on
Economic, Social and Cultural
Rights

(C) Convention on the Rights of
Child.

(D) Convention on the Rights of

persons with Disabilities.

The term of the office of the
Chairperson and Members of the
NHRC under Protection of Human
Rights Act, 1993 is

(A) 5 years from the date on which
he enters the office or until he
attains the age of 70 years
whichever is earlier.

4 years from the date on which
he enters the office or until he
attains the age of 70 years
whichever is earlier.

3 years from the date on which
he enters the office or until he
attains the age of 68 years
whichever is earlier.

5 years from the date on which
he enters the office or until he
attains the age of 68 years
whichever is earlier.

(B)

©)

(D)
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61.

62.

63.

64.

The  Chairperson  of  National
Commission on Minorities shall be
deemed member of

(A) Human Rights Council

(B) Law Commission of India

(C) National Human Rights
Commission

(D) International Law Commission

Which one of the following is an
‘actionable’ wrong ?

(A) Injuria sine damnum
(B) Damnum sine injuria
(C) Both of the above
(D) None of the above

Which of the following is the gist of
tortious liability ?

(A) Legal damages

(B) Violation of legal right

(C) Availability of legal duty

(D) None of the above

The Rule of Absolute Liability is

subject to

(A) All the exceptions mentioned in
the rule of Rylands vs. Fletcher

(B) Half of the exceptions
mentioned in the rule of Rylands
vs. Fletcher

(C) None of the exceptions

mentioned in the rule of Rylands
vs. Fletcher
(D) All the exceptions mentioned in
rule of M.C. Mehta vs. Union of

India
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58.

59.

60.

ST AR e e |
(A) 3ThIHT

(B) =

(C) 3R

(D) TRmE

AHATYHRI T R ATETT & DT
Telhlel (JTER) = JAMET THaTahR
TN G Y e € 2

(A) W& 1

(B) WiamhIeT 2

(C) Wicriet 3

(D) Wi 11

ffafed & 9 69 w7

3T TS GOR UlhAT & 7 & i

TR Tfhar & 2

(A) W< Ao T IoHias

R SAfE

TR 3MMoeh, QTSI e

Hipias ATUHR AT

(C) STeYsR AT

(D) o’ AfRE % AUPIRI W
et

(B)

THETPR I, 1993 o G &
=TT U U 3R Gl o 3TeaeT a1 A
% YS9 i 37aTY foha THT i gial € 2
(A) 3T H Ja I i fafd ¥ 5 a9
I T T Al 70 IY B W H AL
& ST & A1 S ) e O |
THT H UaeT 3 F 4 99 ok a1
S T 98 70 Y i I H Tl &
ST 37 ST o TR IS |

NTFT H Uael 3 § 3 99 o AT
S T 68 Y W SW B & AN
1 S o B U |

MM 4 vas o § 5 o9
G T AT I I 68 I Bl W
1 &l ST & A1 S A 9 U |

(B)

©)

(D)
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61.

62.

63.

64.

LT oUEETd ST T 3TeeT
frfeiaa & 9 forgerr Mfd T g 2
(A) THEETYHR TREg

(B) WRd & fafy 2T

(C) T AHEIHR 3TN

(D) iR fafy 3

frfafad & @ =i @1 erEsT e 2
(A) & fomr &1

(B) &I fom &1

(C) ST Hl

(D) ST H | HIE Tl

=1 5 9 *F 91 Ui a1 ar
T2

(A)  fafes epamr

(B) Tatues 1fueri #1 &4

(C) fafuss sheieg =l ucteear

(D) ST H | HIE Tol

“ gqur gifge & HEw Fefated 9 9
for & erad & 9

(A) TIATE T FoTE S AR G
3TIRT o A1

TIAUS T Feray % a8 & oy
3TIaRT o A1

TIAUS T T F FEE &
Topdlt off SToemsT o fem

Tg. G HEdT F9F YR G % T
USR] & T

(B)

©)

(D)
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65.

66.

67.

Assertion (A): If a person speaks ill
of the business which X is doing,
it amounts to defamation.

Reason (R) : Slander is actionable
per se.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation of
(A).

Both (A) and (R) are true but
(R) is not the correct explanation
of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

(B)

©)
(D)

In res Ipsa Loquitor :

(1) Presumption of negligence is
there.

(2) Plaintiff has to bring direct
evidence.

(3) Plaintiff is discharged from the
duty of proving negligence on
the part of the defendant.

(4) Court does not give chance to
defendant to avoid his liability.

Codes :

(A) (1) and (2) are correct.

(B) (1), (2) and (4) are correct.

(C©) (1), (2)and (3) are correct.

(D) (1) and (3) are correct.

Which one of the following statements
is true ?

(A) Both public as well as private
nuisance are punishable under
criminal law.

Only private nuisance is
punishable under criminal law,
while there is no punishment for
general nuisance.

Public nuisance is punishable
under criminal law while private
nuisance is a moral wrong only.
Public nuisance is punishable
under criminal law, while
private nuisance under civil law.

(B)

©)

(D)
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68.

69.

70.

For constituting tort of nuisance, there
should be

(A) Unreasonable interference

(B) Interference should be with the
use of enjoyment of land.

(C) Damage

(D) All of the above

Partnership is based on

(A) Mutual trust

(B) Mutual benefit
(C) Mutual interest
(D) Mutual agency

Which statements are correct ?

(i) An undisclosed principal can

intervene against express terms.

(i1)) An undisclosed principal cannot
intervene against express terms.

(i1ii)) An undisclosed principal cannot
intervene when he knows that
the other party would not have
dealt with him.

(iv) An undisclosed principal can
intervene when he knows that

the other party would not have

dealt with him.
Codes :
(A) (i) and (ii) are correct.
(B) (i1) and (iii) are correct.
(C) (i1) and (iv) are correct.
(D) (@v) and (1) are correct.

J-58-12



65.

66.

67.

HUA (A) : T Al X FR o6 ST a1t
HRIER DI ]I HAT &, T& ARl
HI Q|

HRUT (R) ; Y= T AT T |

C TAN

(A) (A) W (R) I &l & (R), (A)
e AT |

(A) T (R) 31 @& €, fFg (R),
(A)  TE AT TR € |

(A) Tl &, o] (R) T & |

(A) T &, fbeg (R) WET 7

(B)

©
(D)

AT @A dierdt €, |/

(1) STHEEM S STYROT & |

(2) At P YeeT WieF AT AT |

(3) @&t UiqeTs! i 3ULT AT B
T ¥ Yo &l T |

(4) =TT UTTaRT S M Jierd
T FTE TR AT |

T

(A)

(B)

©)

(D)

() TE (2) T E |
(1), (2) W& (4) T T |
(1), (2) T (3) W& E |
(1) (3) W€ |

=7 o 9 i o T R R0

(A) h3ua™ dur e Suam gl
AT fafy ¥ gueg § |
At o § SN SuAm
TUSAE ¥, SEih AT SUAM |
HIE VS TE & |

A% SUAY  RIYs  fatg |
e & SEie e Suam O
ATHITE |

% IUAT oMWy fafy A
TUSAE &, STEieh e A e
fafr & e 2 |

(B)

©

(D)
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68.

69.

70.

SYATT T STIH TTiad — HA o o BT
e —

(A) e FEEd

(B) 9T &% SUAIT § g&A&T T HLAT
(©) THaF

(D) ST |l

TR 3R €

(A) IRERE fovard I
(B) URERH A
(C) URENS f6qd W
(D) URWNE TS T

DT T HH el § 2

(i) 3Thied Alfeish ST e &
fo%s e o g ¢ |
3 HifeTh 3MWega ae o
Tog, axaeiT Tél X WheT € |
i Hifersh I STe T Bl &
o SERT UeT S WY HHgRr TE
AT TN FEIETT el Y FehelT & |
3Hied AT P S A eidl ©

o SERT UeT S WY TR TE
AT TN EEART FT Tl € |

(ii)

(i)

@iv)

(i) 3T (ii) TET & |
(i) 3 (iii) TET T |
(iii) 3 (iv) TET & |
(iv) 31 (i) W& & |

(A)
(B)
©)
(D)

Paper-I11



71.

72.

Read the following passage, and
match the column :
A negotiable instrument

contains a contract and therefore must
be supported by consideration. In
order to be a holder in due course, the
holder must have obtained the
instrument before its maturity. An
instrument payable on demand is
current at least as long as no demand
for payment is made. To make a
holder in due course, the instrument
must be complete and regular. A post-
dated cheque may not be complete and
regular.

Column - P Column - Q

(a) Negotiable (i) Before
Instrument maturity

(b) Holder in (ii) Demand for
due course payment

(c) Currency of (iii) Post  dated
instrument cheque

(d) Complete (iv) Consideration
and regular

Codes :

@ b)) (© (@

(A) @) Gav) @) (1)

B) @) @) @) @1v)

©) av) @ @) ()

D) av) @) @) (D)

Assertion (A) : Every public company
shall have at least three and every
private company at least two
Directors.

Reason (R) : Directors are trustees
for the company and not for
individual shareholders.

Codes :

(A) (A) and (R) are true, but (R) is

not an explanation for (A).

(A) and (R) are true and (R) is

an explanation for (A).

(A) is true, but (R) is false.

(R) is true, but (A) is false.

(B)

©)
(D)
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73.

74.

75.

Arrange the following concepts in a
sequence in which they appeared. Use
the code given below :

(i) Right of an unpaid seller to stop
goods in transit.

Agreement to sell goods.
Damages for breach of contract
of sale of goods.

(iv) Conditions and warranties.
Codes :

(A) (), v), (iiD), (1)

B) (@), (i), (1), (ii1)

(©) (), @), (1v), (ii1)

(D) @), (i), (v), (ii1)

Which statements are correct ?

(i)  Partner has a duty of good faith.

(ii)
(iii)

(i1))  Partner has duty not to compete.

(iii) Partner has duty of due
diligence.

(iv) Partner has duty to indemnify
for fraud.

Codes :

(A) Only (i) is correct.

(B) Only (i) and (ii) are correct.

(C) Only (i), (ii) and (iii) are correct.
(D) (), (i), (iii) and (iv) are correct.

Match an item in List P with an item

in List Q :
List- P List - Q
(a) Removal of (i) Section
Directors by 318

Company Law
Board

(b) Duty of Directors (ii) Sections
to disclose 299 — 300
interest

(¢) Compensation for (iii) Section

loss of office of 402
Director
(d) Director with (iv) Sections
unlimited 322 -323
liability
Codes :
@ (b © @
(A) (i) a) @1 (1)
B) (@ (@) @) (@1v)
(©) (@ (@) @Gv) @
D) @) @ a) Gv)
J-58-12



71.

72.

fr=fefaa ot =t 1¢ 3k "= @
TRt S gaferd

weht feraa (fon) o diewr g € 3T
o™ T Uidhel T GEed e
TET | IR, 9RF B & o, 9R®
 forad H 3TF aRusE g+ % gd urd
F O AT | G W T fergad qmd
2T & %9 ¥ FH 5T dh o e o ford
HE AN T H A & | I, aRe
gH % ford forma & qor qen fafratad
BT Aed | SR At @ 9 o ud
fafated & & gar & |

W P T Q

(a) W for@d (i) 9Ruse 8 9
Ecl

(b) FHAUR 4R (i) A= & o
AT

(c) Toraa =t (iii) STRIATe <
HEAT

(d) goT &I (iv) UfcTwet
fafataa

C YA

(@ (b (© (@
A) @ Gv) @) (i)
B) @G (@) @) Gv)
©) Gv) @ a1 (i)
(D) Gv) @) (@) (1)

ATUHUT (A) : T UleeTeh HEAT P HH
T BT A9 q97 Ui WTgae ot o
% § %A g ST e T |

FHRUT (R) : M9 HHAT & =T (=)
e € 7 fop aaferten st & |

C YA

(A) (A) &R (R) F9 & T (R), (A)
T TILIHOT Tl & |

(A) 3 (R) TF & 3T (R), (A) H
TWEHT T |

(A) T &, W (R) A& |

(R) T &, W (A) AT |

(B)

©)
(D)
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73.

74.

75.

ffata_ sauronsti & 3HF THe 8

% ST H AT W ;

(i)  Ts< Toshdr T AN § AT Ah B
AIHR

(i) et foshT 1 R

(iii) e forsht ot WferRT T St THaE

(iv) 91d ua 3varET

T

(A) (i) (v) (i) (1)

B) (Gv) () (@@ (ii)

© Gy @@ (av) (i)

D) (@) G Gv) (i)

H H T T § 2

(i) YTER T GIEHT T HAT

(i) YTTER 1 T T H T HAd

(iii) %ﬂﬁgrmwfaﬁwm%r@ﬁw
iv) U % ford eafquia s 1 AR
) T FHIA
&<
(A) et (i) TETE |
(B) et (i) 3 (i) W € |
(C) FHadA (i), (ii)aﬁr(iii)aﬁ%|
(D) (i), (ii), (iii) 3 (iv) T E |
gl — P H TR B G - Q F R H
et - P Tl - Q
(a) FOATH AT (1) €R1318
e FRT Tt
T T
(b) BAUHEC HH (i) ¥RT 299 - 300
T IR T
Heleq
(c) MR F U  (iii) ¥RT 402
oIt & ferd
ifgf
(d) o/ ma Sfae (iv) 9RT 322 - 323
EAREENED
R‘.

(=N

(@ () () @
(i) @) (1) (Gv)
(i) (i) @) (1)
(i) (i) (@v) ()
) @@ (i) (1)

(A)
(B)
(©)
(D)
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